MPM 1D6 Name:

Performance Task - Graphing to find the vertices of a triangle

1. The equations of the three sides of a triangle are:

A . B C
y=2x—4, y=—§x+6and y=—-3x+1

( |
Graph these lines of the grid below and determine the coordinates of the vertices
of the triangle.
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The coordinates of the vertices of the triangle are: ('Z;_') , ( LI;L') , ( l ) 25
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gfaphtcally the point
Performance Task - Math Contest Question ;5 . the Y- axis,

.j.H' i Y=o, and x
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The area of the shaded reMZ)quare units. (0;’4) N

1. What is the slope of the line through AB? 2
2. What is the coordinate of point B? A (-6, 0)
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